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ŸÊ◊Ê¢∑§ Roll No.

No. of Questions — 24  SS—35–2—E. & F.S. II
No. of Printed Pages — 7

©UìÊ ◊ÊäÿÁ◊∑§ ¬⁄UËˇÊÊ, 2010
SENIOR SECONDARY EXAMINATION - 2010

flÒ∑§ÁÀ¬∑§ flª¸  III — ( OPTIONAL GROUP III — Commerce )

•ÊÁÕ¸∑§ ∞fl¢ ÁflûÊËÿ •äÿÿŸ ó ÁmÃËÿ ¬òÊ
( Economic and Financial Studies — Second Paper )

‚◊ÿ — 3 
1
4  ÉÊá≈U

¬ÍáÊÊZ∑§ — 60

¬⁄UËˇÊÊÁÕ¸ÿÊ¥ ∑§ Á‹∞ ‚Ê◊Êãÿ ÁŸŒ̧‡Ê —
GENERAL INSTRUCTIONS TO THE EXAMINEES :
1. ¬⁄UËˇÊÊÕË¸ ‚fl¸¬˝Õ◊ •¬Ÿ ¬˝‡Ÿ ¬òÊ ¬⁄U ŸÊ◊Ê¢∑§ •ÁŸflÊÿ¸Ã— Á‹π¥ –

Candidate must write first his / her Roll No. on the question paper
compulsorily.

2. ¬˝‡Ÿ ¬òÊ ∑§ Á„UãŒË fl •¢ª˝¡Ë M§¬ÊãÃ⁄U ◊¥ Á∑§‚Ë ¬˝∑§Ê⁄U ∑§Ë òÊÈÁ≈U / •ãÃ⁄U / Áfl⁄UÙœÊ÷Ê‚ „UÙŸ ¬⁄U
Á„UãŒË ÷Ê·Ê ∑§ ¬˝‡Ÿ ∑§Ù ‚„UË ◊ÊŸ¥ –
If there is any error / difference / contradiction in Hindi & English
versions of the question paper, the question of Hindi version should be
treated valid.

3. ‚÷Ë ¬˝‡Ÿ ∑§⁄UŸ •ÁŸflÊÿ¸ „Ò¥U –
All the questions are compulsory.

4. ¬˝àÿ∑§ ¬˝‡Ÿ ∑§Ê ©UûÊ⁄U ŒË ªß¸ ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ „UË Á‹π¢ –
Write the answer to each question in the given answer-book only.

5. Á¡‚ ¬˝‡Ÿ ∑§ ∞∑§ ‚ •Áœ∑§ ‚◊ÊŸ •¢∑§ UflÊ‹ ÷Êª „Ò¥U, ©UŸ ‚÷Ë ÷ÊªÙ¥ ∑§Ê „U‹ ∞∑§ ‚ÊÕ ‚ÃÃ˜
Á‹π¥ –
For questions having more than one part carrying similar marks, the
answers of those parts are to be written together in continuity.

6. ÁŸ’ãœÊà◊∑§ ¬˝‡Ÿ ∑˝§◊Ê¢∑§ 23 fl 24 ◊¥ •Ê¢ÃÁ⁄U∑§ Áfl∑§À¬ „Ò¥U –
There are internal choices in the essay type Question Nos. 23 and 24.
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7. ¬˝‡Ÿ ‚¢ÅÿÊ 2 ‚ 7 Ã∑§ •ÁÃ ‹ÉÊÍûÊ⁄UÊà◊∑§ ¬˝‡Ÿ „Ò¥U Á¡Ÿ∑§ ¬˝àÿ∑§ ©UûÊ⁄U ‹ª÷ª 30 ‡ÊéŒÊ¥ ◊¥
ŒŸ „Ò¥U –
Question Nos. 2  to 7  are very short answer type questions. The
answers of these questions should be given in approximately thirty
words each.

8. ¬˝‡Ÿ ‚¢ÅÿÊ 8 ‚ 15 Ã∑§ ‹ÉÊÍûÊ⁄UÊà◊∑§ (i) ¬˝‡Ÿ „Ò¥U Á¡Ÿ∑§ ¬˝àÿ∑§ ©UûÊ⁄U ‹ª÷ª •Êœ ¬ÎDÔU ◊¥ ŒŸ
„Ò¥U –
Question Nos. 8  to 15  are short answer (i) type questions. The
answers of these questions should be given in approximately half page
each.

9. ¬˝‡Ÿ ‚¢ÅÿÊ 16 ‚ 21 Ã∑§ ‹ÉÊÍûÊ⁄UÊà◊∑§ (ii) ¬˝‡Ÿ „Ò¥U Á¡Ÿ∑§ ¬˝àÿ∑§ ©UûÊ⁄U ‹ª÷ª ∞∑§ ¬ÎDÔU ◊¥
ŒŸ „Ò¥U –
Question Nos. 16 to 21 are short answer (ii) type questions. The
answers of these questions should be given in approximately one page
each.

10. ¬˝‡Ÿ ‚¢ÅÿÊ 22 ‚ 24 Ã∑§ ÁŸ’ãœÊà◊∑§ ¬˝‡Ÿ „Ò¥U Á¡Ÿ∑§ ¬˝àÿ∑§ ©UûÊ⁄U ‹ª÷ª 3 ‚  4 ¬ÎDÔUÙ¥ ◊¥
ŒŸ „Ò¥U –
The Question Nos. 22 to 24 are essay type questions. The answers of
these questions should be given in approximately 3 to 4 pages each.

11. ¬˝‡Ÿ ∑˝§◊Ê¢∑§ 1 ∑§ øÊ⁄U ÷Êª ( i, ii, iii ÃÕÊ iv ) „Ò¥U – ¬˝àÿ∑§ ÷Êª ∑§ ©UûÊ⁄U ∑§ øÊ⁄U Áfl∑§À¬
( •, ’, ‚ ∞fl¢ Œ ) „Ò¥U – ‚„UË Áfl∑§À¬ ∑§Ê ©UûÊ⁄UÊˇÊ⁄U ©UûÊ⁄U-¬ÈÁSÃ∑§Ê ◊¥ ÁŸêŸÊŸÈ‚Ê⁄U ÃÊÁ‹∑§Ê
’ŸÊ∑§⁄U Á‹π¥ —
There are four parts ( i, ii, iii and iv ) in Question No. 1. Each part has
four alternatives A, B, C and D . Write the letter of the correct
alternative in the answer-book at a place by making a table as
mentioned below :

¬˝‡Ÿ ∑˝§◊Ê¢∑§
Question No.

‚„Ë ©UûÊ⁄U ∑§Ê ∑˝§◊ÊˇÊ⁄U
Correct letter of

the Answer

1.       (i)

1.       (ii)

1.       (iii)

1.       (iv)
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1. (i) ¡‹ ‚¢∑§≈U ∑§ ‚◊ÊœÊŸ „UÃÈ •Ê¬ mÊ⁄UÊ ‚È¤ÊÊÿÊ ªÿÊ ¬˝‡Ÿ ∑§Ê SflM§¬ „ÒU
(•) flÁ¡¸Ã ¬˝‡Ÿ (’) πÈ‹Ê ¬˝‡Ÿ
(‚) ‚Ê◊Êãÿ Áfl∑§À¬ ¬˝‡Ÿ (Œ) ÁflÁ‡Êc≈U ‚ÍøŸÊ ¬˝‡Ÿ – 
The type of question suggested by you to solve the water crisis,
is

(A) Prohibited question
(B) Open question
(C) Simple alternative question
(D) Specific information question. 1

2  

(ii) ÿÁŒ Á∑§‚Ë ‚¢ÅÿÊ ∑§Ê flÊSÃÁfl∑§ ◊ÍÀÿ 250 ÃÕÊ •ŸÈ◊ÊÁŸÃ ◊ÍÀÿ 200 „ÒU, ÃÊ ‚Ê¬ˇÊ
Áfl÷˝◊ „ÒU
(•) 0·25 (’) – 0·25
(‚) 0·20 (Œ) 0·40.
If actual value of any digit is 250 and estimated value is 200.
Then relative error is
(A) 0·25 (B) – 0·25
(C) 0·20 (D) 0·40. 1

2  

(iii) ÿÁŒ ‚◊ÊãÃ⁄U ◊Êäÿ ‚ Á‹∞ ªÿ Áflø‹ŸÊ¥ ∑§Ê ÿÊª ε |dx| = 3220 ∞fl¢ ¬ŒÊ¥ ∑§Ë
‚¢ÅÿÊ N = 5 „UÊ¥, ÃÊ ‚◊ÊãÃ⁄U ◊Êäÿ Áflø‹Ÿ   


 δ 

–
X     „ÒU

(•) 16100 (’) 644
(‚) 32·15 (Œ) 64·4.

If  the  sum  of  deviations  taken  from  Arithmetic  mean

ε |dx| = 3220 and number of items N  = 5 are given, then

arithmetic mean deviation 





 δ 
–
X     is

(A) 16100 (B) 644
(C) 32·15 (D) 64·4. 1

2  

(iv) ¬˝◊Ê¬ Áflø‹Ÿ ∑§Ë ªáÊŸÊ „UÃÈ Áflø‹Ÿ Á‹∞ ¡ÊÃ „Ò¥U
(•) ◊Êäÿ ‚ (’) ◊äÿ∑§Ê ‚
(‚) ’„ÈU‹∑§ ‚ (Œ) ÃËŸÊ¥ ◊¥ ‚ Á∑§‚Ë ‚ ÷Ë –
To calculate Standard Deviation, deviations are taken

(A) from Mean (B) from Median

(C) from Mode (D) from any of the three. 1
2  
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2. ‚Ê¢ÁÅÿ∑§Ë ∑§Ë ∑§Êß¸ ∞∑§ Áfl‡Ê·ÃÊ Á‹Áπ∞ –
Write any one characteristic of Statistics. 1

3. ‚Ê¢ÁÅÿ∑§Ë ∑§Ë ∑§Êß¸ ∞∑§ ‚Ë◊Ê Á‹Áπ∞ – 
Write any one limitation of Statistics. 1

4. ÁŸêŸ ‚◊¢∑§Ù¥ ◊¥ ’„ÈU‹∑§ ÄÿÊ „ÒU ?
4, 6, 5, 9, 7, 8, 10, 4, 7, 5, 6, 8, 7, 9, 7.

What is mode of the following data ? 1

4, 6, 5, 9, 7, 8, 10, 4, 7, 5, 6, 8, 7, 9, 7.

5. ¬ÍáÊ¸ œŸÊà◊∑§ ‚„U ‚ê’ãœ ∑§Ê •Õ¸ Á‹Áπ∞ – 
Write the meaning of Perfect Positive Correlation. 1

6. ©U¬÷ÊÄÃÊ ◊ÍÀÿ ‚Íø∑§Ê¢∑§ ‚ •Ê¬∑§Ê ÄÿÊ •Ê‡Êÿ „ÒU ? 
What do you mean by Consumer Price Index Number ? 1

7. ÁŸêŸ ‚◊¢∑§Ê¥ ‚ Á»§‡Ê⁄U ∑§Ê •ÊŒ‡Ê¸ ‚Íø∑§Ê¢∑§ ôÊÊÃ ∑§ËÁ¡∞ —
ε p 0  q 0  = 1050,   ε p 1  q 0  = 1500,  ε p 0  q 1  = 1400,  ε p 1  q 1  =

2000.  

Find out the Fisher’s Ideal Index Number from the following data :
ε p  0  q 0  = 1050, ε p  1  q 0  = 1500,  ε p  0  q 1  = 1400, ε p  1  q 1  =

2000.  1

8. ÁŸêŸÁ‹ÁπÃ ∑§Ê “‚ ∑§◊” ‚¢øÿË •ÊflÎÁûÊ ◊¥ ¬Á⁄UflÁÃ¸Ã ∑§ËÁ¡∞ —

¬̋ÊåÃÊ¢∑§ 0-10 10-20 20-30 30-40 40-50 50-60

ÁfllÊÁÕ¸ÿÊ¥ ∑§Ë ‚¢ÅÿÊ 8 12 15 9 4 2

Convert the following into ‘less than’ cumulative frequency : 2

Marks 0-10 10-20 20-30 30-40 40-50 50-60

No. of Students 8 12 15 9 4 2

9. ÁŸêŸ ‚Ê⁄UáÊË ‚ ’„ÈU‹∑§ flª¸ ∑§Ê ÁŸœÊ¸⁄UáÊ ∑§ËÁ¡∞ —

flª¸ 20-30 30-40 40-50 50-60 60-70 70-80

•ÊflÎÁûÊ 3 23 0 22 11 9

Determine the Mode class from the following table : 2

Class 20-30 30-40 40-50 50-60 60-70 70-80

Frequency 3 23 0 22 11 9
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10. ÁflSÃÊ⁄U ‚ •Ê¬ ÄÿÊ ‚◊¤ÊÃ „Ò¥U ? ß‚∑§Ë ∑§Êß¸ ŒÊ Áfl‡Ê·ÃÊ∞° Á‹Áπ∞ – 
What do you mean by Range ? Write any two characteristics of it. 2

11. √ÿfl„UÊ⁄U ◊¥ ◊Êäÿ Áflø‹Ÿ ∑§Ë ªáÊŸÊ „UÃÈ •Ê¬ Á∑§‚ ◊Êäÿ ∑§Ê øÈŸÊfl ∑§⁄¥Uª ∞fl¢ ÄÿÊ¥ ? 
Which average will be selected by you for the calculation of Mean

Deviation and why ? 2

12. ‚„U ‚ê’ãœ ªÈáÊÊ¢∑§ ôÊÊÃ ∑§⁄UŸ ∑§Ë ‚fl¸üÊc∆U ÁflÁœ ∑§ÊÒŸ-‚Ë „ÒU ∞fl¢ ÄÿÊ¥ ? 
Which is the best method to calculate the coefficient of correlation and

why ? 2

13. ¬˝◊Ê¬ Áfl÷˝◊ ∑§Ê ∞∑§ ∑§ÊÀ¬ÁŸ∑§ ©UŒÊ„U⁄UáÊ ∑§Ë ‚„UÊÿÃÊ ‚ S¬c≈U ∑§ËÁ¡∞ –
Explain standard error by the help of an imaginary illustration. 2

14. Á»§‡Ê⁄U ∑§Ê ‚Íø∑§Ê¢∑§ ‚ÍòÊ •ÊŒ‡Ê¸ ÄÿÊ¥ „ÒU ? ∑§Êß¸ ŒÊ ∑§Ê⁄UáÊ ŒËÁ¡∞ –
Why is Fisher’s formula of Index Number an ideal ? Give any two

reasons. 2

15. ©U¬÷ÊÄÃÊ ◊ÍÀÿ ‚Íø∑§Ê¢∑§ ÁŸ◊Ê¸áÊ ∑§Ë ÷ÊÁ⁄UÃ ‚◊Í„UË ÁflÁœ ∑§ ‚ÍòÊ ∑§Ê S¬c≈U ∑§ËÁ¡∞ –
Explain the formula of Weighted Aggregative Method of constructing

Consumer Price Index. 2

16. ‚Ê¢ÁÅÿ∑§Ë ∑§ ∑§Ùß¸ ÃËŸ ∑§ÊÿÊZ ∑§Ê S¬c≈U ∑§ËÁ¡∞ –

Explain any three functions of Statistics. 3

17. ÁŸêŸ ◊äÿ ◊ÍÀÿÊ¥ ∑§Ê ‚◊ÊŸ flªÊ¸ãÃ⁄U flÊ‹Ë üÊáÊË ◊¥ ¬Á⁄UflÁÃ¸Ã ∑§ËÁ¡∞ —
◊äÿ ◊ÍÀÿ 15 25 35 45 55

ÁfllÊÁÕ¸ÿÊ¥ ∑§Ë ‚¢ÅÿÊ 3 5 4 1 2

Convert the following mid-values into equal class-interval series : 3

Mid-value 15 25 35 45 55

No. of Students 3 5 4 1 2

18. ¿UÊòÊÊ¥ mÊ⁄UÊ •Õ¸‡ÊÊSòÊ Áfl·ÿ ◊¥ ¬˝ÊåÃ Á∑§ÿ ªÿ ¬˝ÊåÃÊ¢∑§Ê¥ ∑§ ÁŸêŸ Áflfl⁄UáÊ ∑§ •ÊœÊ⁄U ¬⁄U •ÊflÎÁûÊ
’„ÈU÷È¡ ∑§Ë ⁄UøŸÊ ∑§ËÁ¡∞ —

¬̋ÊåÃÊ¢∑§ 0-10 10-20 20-30 30-40 40-50

ÁfllÊÁÕ¸ÿÊ¥ ∑§Ë ‚¢ÅÿÊ 6 12 15 8 4
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Construct a frequency polygon from the following description of

marks obtained by students in Economics subject : 3

Marks 0-10 10-20 20-30 30-40 40-50

No. of Students 6 12 15 8 4

19. ÁŸêŸÁ‹ÁπÃ ‚◊¢∑§Ê¥ ‚ øÃÈÕ¸∑§ Áflø‹Ÿ ∑§Ë ªáÊŸÊ ∑§ËÁ¡∞ —
¬̋ÊÃÊ¢∑§ 0-10 10-20 20-30 30-40 40-50

ÁfllÊÁÕ¸ÿÙ¥ ∑§Ë ‚¢ÅÿÊ 5 10 20 5 10

Calculate Quartile Deviation from the following data : 3

Marks 0-10 10-20 20-30 30-40 40-50

No. of Students 5 10 20 5 10

20. ø⁄UÊ¥ ∑§Ë ‚¢ÅÿÊ ∑§ •ÊœÊ⁄U ¬⁄U ÃËŸÊ¥ ¬˝∑§Ê⁄U ∑§ ‚„U‚ê’ãœ ∑§Ê ©UŒÊ„U⁄UáÊ ‚Á„UÃ ‚◊¤ÊÊß∞ –
Explain three types of correlation based on number of variables with

examples. 3

21. ÁŸêŸÊ¢Á∑§Ã ÁSÕ⁄U •ÊœÊ⁄U ‚Íø∑§Ê¢∑§Ê¥ ‚ oÎ¢π‹Ê •ÊœÊ⁄U ‚Íø∑§Ê¢∑§ ÃÒÿÊ⁄U ∑§ËÁ¡∞ —

fl·¸ 1994 1995 1996 1997 1998 1999

ÁSÕ⁄U •ÊœÊ⁄U ‚Íø∑§Ê¢∑§ 200 300 360 270 283·5 354·28

Prepare Chain Base Index Number from the Fixed Based Index
Numbers given below : 3

Year 1994 1995 1996 1997 1998 1999

Fixed Base Index 200 300 360 270 283·5 354·28

22. ÁŸêŸÁ‹ÁπÃ ‚◊¢∑§Ê¥ ‚ ‚◊ÊãÃ⁄U ◊Êäÿ mÊ⁄UÊ ◊Êäÿ Áflø‹Ÿ ∑§Ë ªáÊŸÊ ∑§ËÁ¡∞ —
◊äÿ ◊ÍÀÿ 5 15 25 35 45

¿UÊòÊÊ¥ ∑§Ë ‚¢ÅÿÊ 5 8 15 16 6

Calculate Mean Deviation by Arithmetic Mean from the following

data :  6

Mid-value 5 15 25 35 45

No. of Students 5 8 15 16 6
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23. ÁŸêŸ •ÊflÎÁûÊ ÁflÃ⁄UáÊ ‚ ◊äÿ∑§Ê ôÊÊÃ ∑§ËÁ¡∞ —

flª¸ 10-15 15-20 20-25 25-30 30-35 35-40 40-45

•ÊflÎÁûÊ 3 7 16 12 9 5 3

•ÕflÊ
‚◊ÊãÃ⁄U ◊Êäÿ ‚ •Ê¬ ÄÿÊ ‚◊¤ÊÃ „Ò¥U ? ß‚∑§ ªÈáÊ-ŒÊ· Á‹Áπ∞ –
Find out Median from the following frequency distribution : 6

Class 10-15 15-20 20-25 25-30 30-35 35-40 40-45

Frequency 3 7 16 12 9 5 3

OR

What do you mean by Arithmetic Mean ? Write its merits and
demerits.

24. ÁŸêŸ ‚Ê⁄UáÊË ‚ ∑§Ê‹¸ Á¬ÿ‚¸Ÿ ∑§ ‚„U‚ê’ãœ ªÈáÊÊ¢∑§ ∑§Ë ªáÊŸÊ ∑§ËÁ¡∞ —

x 78 89 96 69 59 79 68 61

y 125 137 156 112 107 136 123 108

•ÕflÊ
ÁŸêŸ ‚◊¢∑§Ê¥ ‚ ÁS¬ÿ⁄U◊ÒŸ ∑§Ë ∑§ÊÁ≈U •ãÃ⁄U ⁄UËÁÃ mÊ⁄UÊ ∑§ÊÁ≈U ‚„U ‚ê’ãœ ªÈáÊÊ¢∑§ ∑§Ë ªáÊŸÊ
∑§ËÁ¡∞ —

x 48 33 40 8 16 16 66 24 16 57

y 13 13 24 6 15 4 20 9 6 19

Calculate Karl Pearson’s coefficient of correlation from the following

table : 6

x 78 89 96 69 59 79 68 61

y 125 137 156 112 107 136 123 108

OR

Calculate the coefficient of Rank correlation by Spearman's rank
difference method from the following data :

x 48 33 40 8 16 16 66 24 16 57

y 13 13 24 6 15 4 20 9 6 19
                        


